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COMPUTER HARDWARE SSC-|

SECTION — A (Marks 08)

Time allowed: 20 Minutes

NOTE: Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/B/C /D. Each part carries one mark.

0] What does CPU stand for?

A Central Processing Untt B. Control Programming Unit
C. Central programming Unit D Control Processing Unit
{in) Formula for power calculation is:
A. p-t B. P=1"R
R
o
C. LARER T D. /-
I
(iii) What in the transistor is always forward biased with respect to base?
A Coilector B. Collector and Emittor
C Emittor D. None of these

(v} Which year did the 2nd generation of computer come into existence?

A 1546 AD B. 1854 AD C. 1964 AD D. 1974 AD
{v) Which is the utility used to arrange data in sequence?
A. Back up B. Post C. Boot up D. Disk defragmentaticn

(vi) in NAND Gate A=0 and B=0 then output will be:
A 0 B. 1 C 10 D. 11

(vil) When the decrease in the cross-section area of a conductor wire, its resistance will be?

A Increase B. Decrease

C. No change D Conductor has no resistance
(vin)  (A4BC)isequalto ____ inthe decimal number.

A 7230 B. 2748 C. 4872 D. 4728
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Time allowed: 2:40 Hours

N

COMPUTER HARDWARE SSC-I

Total Marks Sections B and C: 32

NOTE: Answer any six parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION -- B (Marks 18)
Q.2 Answer any SIX parts. The answer to each part should not exceed 3 to 4 lines. (6 x3=18)
{n Which devices are used to take hard copy output and soft copy output?
(i Write down any three advantages of back up.
(1) Write down voltage amplifier with the help of diagram.
{iv) What is binary coded decimal?
(v A heater of 500 ohm is connected with 12 volt battery. How much power will produce in the heater?
(Vi) Write the effect of DC and AC current on capacitor.
(vii) Define drawing. Draw the symbol of NOR Gate. NPN Transistor. DIODE, Resistor.
(viii) Define impact and non impact printers. Write their two names of each.

Note:

Q.3

SECTION — C (Marks 14)

Attempt any TWO questions. All questions carry egual marks.

(2x7=14)
a What do you know about computer virus? List its types. 04
What s difference between volatile and non volatile memaory. 03
Explain ohm’s law with the help of exampie. 04
b. Explain diode forward biased circuit. 03
Explain types of computers. 07
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